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Topic:- General Knowledge

1)
Question Stimulus :-

General Knowledge

Who was the first women chief minister of Madhya Pradesh?/ﬂ?m;lﬂ"\’l Gl II'%FIT
@1 o ®1 A2

¢ Meera Kumar/ Iﬁ'ﬂw

®* Sushma Swaraj/ UHT WIS

e Uma Bharti/ 34T HRdl

e Sarla Grewal / I3dT dard
Correct Answer :-Uma Bharti/ 3SHT HRRdl
2)
Question Stimulus :-

General Knowledge

Which state is to the west of M.P.?/H. Y. & ufiw § S19-91 I %?
* Goa/ T
® Gujrat/ ToRRTd
o Uttar Pradesh/ Iﬁﬂm
®* Maharashtra/ HgRTY
Correct Answer :-Gujrat/ oRRTd
3)
Question Stimulus :-

General Knowledge
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Which of the following district was not added to Madhya Pradesh in

1956?/f% # | oI-41 forar 1956 # Aeauer | A wfera g U2
* Bhopal/ HIUd
e Indore/ ¥R
e Gwalior/ TR

e Nagpur/ ATYR
Correct Answer :-Nagpur/ dTYR
4)
Question Stimulus :-

General Knowledge

Who was the first Vidhan Sabha speaker of M.P.?/H. U. &I faum= 94T & uyH
U P 4?2

P Kunjilal dubey/ U. $eftara gd
Tejlal Tembhare/?ﬁl?ﬂ?l é‘q‘lﬁ

Gulsher Ahmad/ Ta=R 38HE
® Srinivas Tiwari/ fifarg faarst

Correct Answer :-P Kunjilal dubey/ U. $eilard gd

5)
Question Stimulus :-
General Knowledge

Which among the foIIowmg is The Business capital of Madhya Pradesh?/

e faf@a & @ v 9 sqaRe e #19-39t 32
e Bhopal/ Hiutd@
 Indore/ ¥R
e Gwalior/ TIfeRR


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

® Jabalpur/ SIdceiqR
Correct Answer :-Indore/ 3R
6)
Question Stimulus :-

General Knowledge

Which of the following is a District of Madhya Pradesh?/ {9 & @ #19-91
HYHUSY BT U o1 g2

®* Agar Malwa/ 3R HTddI

e Mhow/ Hg

e Pipariya/ fuafar

e Budhni/ g
Correct Answer :-Agar Malwa/ 3R HTcdl
7)

Question Stimulus :-

General Knowledge

State Tribal museum is situated in: /< ST SIETad R 8-
e Bhopal/ viare o
e Indore/ 'Q"ca?ff
e Jabalpur/ SR H
e Guna/ 1'[-'-|Tff
Correct Answer :-Bhopal/ viarer A

8)
Question Stimulus :-

General Knowledge
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Old Vidhan sabha in Bhopal is also famous as which of the following name?/ viure
# fR@ R fauryr ok e A 9 foerma 82

e Edward Hall/ TSds gid

e Minto Hall/ ﬁ'ﬁﬁﬁ

e Indira Hall/ gfezT 8@

e Gandhi Hall/ i< gfa
Correct Answer :-Minto Hall/ f¥el gf@
9)
Question Stimulus :-

General Knowledge

Which of the following is present in Mandu?/ 9 & & uig ¥ w1 Ry 82
e Asharfi Palace/ 3IRWBI Hed
e Roopmati Palace/ ¥Uddl Hgd
e Jahaz Palace/ GiglSl Hgd
* All of the above/ SWiad a4t

Correct Answer :-All of the above/ SWRIad It

10)
Question Stimulus :-
General Knowledge

Ahilya Bai belongs to which of the following dynasty?/ 3ifgear ag Ffa # &
e Trodw ¥ 9 82

Holkar/ gle?
Bhopal/ yiure
Scindia/ Riftmar
Tripuri/ BgH
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Correct Answer :-Holkar/ Bieh?

11)
Question Stimulus :-
General Knowledge

State planning Commission office of M.P. is situated in which building?/

A.Y. § I TISHT TN BT Py fod Ha- A fRUd 82

e Rajbhawan/ ITSTHdA

e Pustak Building/ ¥d® Hdq

e Vallabh Bhawan/ decddH Hdq

e Vindhyachal Bhawan/ fdsamaa Haq
Correct Answer :-Vindhyachal Bhawan/ fdtarea Haq
12)
Question Stimulus :-

General Knowledge

Jabalpur is famous as the capital of Madhya Pradesh?/ SId¢iqR
TS P ISYTL & ¥U | uRiE g

e Business/ AU

e Music/ §ifid

° Tourism/tl'qu
* None/ Hﬁ%ﬂﬁ

Correct Answer :-None/ &g gl
13)
Question Stimulus :-

General Knowledge

Which of the following city is famous as Holy city of Buddhist? /{9 # & ®I9-1T W&
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915 o F TP ufdT e & ¥ A faerd 82
Sanchi/ |4t

Khajuraho/ @SRT8!

Vidisha/ fafe=m

Sagar/ 9U'R

Correct Answer :-Sanchi/ Il

14)
Question Stimulus :-

General Knowledge

Ami Kamni is associated with which sports?/ 3t srHA frg @a @ 95 %?
* Softball/ |iwdld
®* Snooker/ HdH
® Wushu/qx[

e None of these/ 394 A ®Is T8I

Correct Answer :-Snooker/ Hd

15)
Question Stimulus :-
General Knowledge

Tawa Canal is present in which of following district?/ da1 /g3 719 # ¥ f&g
e § fRE 22

e Hoshangabad/ ST aTG
e Bhopal/ viaret

e Guna/ T

° Datia/EﬁITIT
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Correct Answer :-Hoshangabad/ BIXRTIaTG

Topic:- General Hindi

1)
Question Stimulus :-

"3gHA’ TH F AR YT BT A1 AT 32
. o
o M
* IqHE

T 9 P TR

Correct Answer :-faqag

2)
Question Stimulus :-
Hindi
T 9 3Hfte U | 91 J6E 8-
* 3MER
* 3MER
o YT
* WER
Correct Answer :-3HGR
3)

Question Stimulus :-

Hindi
T5d oG BT I PIfeTu|
* TP

® diy

GET IT ON
Google Play
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o U
°
Correct Answer :-sd
4)
Question Stimulus :-
Hindi
& 9 fora wreg &Y 79T U A g8 72

* 3gH
Correct Answer :-%urq
5)
Question Stimulus :-
Hindi
&=t quiwTen A oAl Ft H= feaet 82
e 32
* 34
e 33
* 36
Correct Answer :-33
6)

Question Stimulus :-

Hindi

GET IT ON
Google Play
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fra e & freft oo Y adh g B, =9 SR

Correct Answer :-Hgd
7)
Question Stimulus :-
Hindi
e faee & @ Y a1 F1 997 BIfve?
* TP Fdl @I UTAT & 330
* [dl I HIAT & 33T TH|
* Hdl Bl TP U & 3TZTI
o Tdl ®I AT TP o 3MSU|
Correct Answer :-%dl 31 T Aol & 35T
8)
Question Stimulus :-
Hindi
fafafea ol o @ Wdg /e a6 &1 994 |
* WIUHR & AHEd B
* J3F I% U9 UK} g gBI FRI|
o T 919 AN 3R fad T HR US|
o gardf gufea ot firer w16t g9 WNfgwl

Correct Answer :-3@ a@ 99 daR g got grfl|
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9)

Question Stimulus :-

Hindi

fFafafea aa & Y@ifed s & fad W &1 999 % R ®FE uikl
T ifee WSH e IRy, ieiF IR & RiT eifers g1

* FH q PIS Tal
Correct Answer :-aHfRi®

10)

Question Stimulus :-

Hindi

Uy & Iss- W & fawped & @ T8l orf-Ug &1 997 Bifvm)
aRuf-aRfor

o Roft-HiPT
o HHT-AIPT
. A
o 1
Correct Answer :-Hi&1-gd

11)

Question Stimulus :-

Hindi

Rt ardl sudt Ha | SEEIL R

GET IT ON
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=Y arES

o1 ae

o WY dqEID

fRea arae
Correct Answer : -9 9&$
12)
Question Stimulus :-
Hindi
“rYTarei’ foe i &1 3gTeRur 82
o {dwR
o U WR
* U] TR
o 3 W
Correct Answer : -0 W@¥
13)
Question Stimulus :-
Hindi
Frfafead weel § $i9-a1 9g6if’’ TURT &1 ISevT A8 82
o B
o fageR
* TS
o Prya
Correct Answer :-fAyaq

14)
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Question Stimulus :-
Hindi
“TIRUT HHA G HIIa” § TR €S 8-
* IUHH
* IUNY
* YR VG
* IEF S
Correct Answer :-398g

15)

Question Stimulus :-

Hindi

fra & @ fra e & 9t v s ¥ vafgarst 82
* §alY, 9FR, X, 9¥M

° mrﬁ'ﬂlmywﬂh

o Jef, TSWI, a7, T

e IR, R=y, Ag, =M
Correct Answer :-3igft, Ry, Iaft, #gmfe

Topic:- General English
1)

Question Stimulus :-

English

Choose the option which can be substituted for the given sentence.
One who is unable to pay his debts.

® Wealthy.

® Successful.
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® Bankrupt.

® Solvent.
Correct Answer :-Bankrupt.
2)
Question Stimulus :-
English
Out of the given options choose the one with the correct spelling.
® Judgement.
® Judgment.
® Judgemant.
® Judgament.
Correct Answer :-Judgement.
3)
Question Stimulus :-
English

Find out which part of the sentence has an error. If there is no error, mark
your answer as ‘No error’.

The enemy has received (a)/ many information’s regarding (b)/the
activities of the army (c)/of our neighboring countries. No error (d).

* (a)
* (b)
* (c)
* (d)
Correct Answer :-(b)

4)
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Question Stimulus :-

English

Arrange the following sentences to form a logically coherent paragraph.
A. linked with lack of self-confidence.

B. Basically, for a child to understand a language,

C. Stammering is a habit disorder

D. there are four stages.
e CBAD.
® CABD.
e BCDA.
* DACB.
Correct Answer :-CABD.
5)
Question Stimulus :-
English
Complete the following sentence by choosing the correct form of verb.

He has _____ a lot of courage during his times of adversity.
® show
® shows
® showing
® shown

Correct Answer :-shown

6)
Question Stimulus :-

English
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Complete the following sentence by choosing the correct conjunction.

Tina was unwell, _  she went shopping with her friends.
® and
® so
* yet
® therefore
Correct Answer :-yet
7)
Question Stimulus :-
English

Complete the following sentence by choosing the most appropriate word
given below:

Would all those in favour please their hands?
® rays
® raise
® raze
® race
Correct Answer :-raise
8)
Question Stimulus :-
English
Complete the following sentence by choosing the correct preposition.

All the boys quarreled themselves.

® among

® between
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® across

® besides

Correct Answer :-among

9)

Question Stimulus :-

English

GET IT ON
Google Play

Complete the following sentence by choosing the correct article.

I saw

® the

one-eyed man yesterday.

® No article required

Correct Answer :-a

10)

Question Stimulus :-

English

Complete the following sentence by choosing the correct determiner.

I requested him to bring me books.

® |ess

® J|jttle

®* few

® 3 few

Correct Answer :-a few

11)
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Question Stimulus :-
English
Complete the following sentence by choosing the correct Phrasal Verb.

While giving evidence in the court, she .
® broke up
® broke into
® broke down
® broke off
Correct Answer :-broke down
12)
Question Stimulus :-
English

Tick the option that has the same meaning as the word underlined in the sentence.

One must try to overcome adverse circumstances.
® favorable
® unfavorable
® climatic
® pleasant
Correct Answer :-unfavorable
13)
Question Stimulus :-
English
Tick the word that is opposite in meaning to the word that is underlined.

Shakespeare was a prolific writer.

® productive
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® unproductive
® popular
® famous
Correct Answer :-unproductive
14)
Question Stimulus :-
English
Complete the following sentence by choosing the correct modal.

She works hard so thatshe____ pass.
® might
®* may
® should
® shall
Correct Answer :-may
15)
Question Stimulus :-
English

Complete the following sentence by choosing the correct order of
pronouns.

will watch movie tonight.

® You, Sonal and I

Sonal, You and I
® I, You and Sonal

e I, sonal and you

Correct Answer :-You, Sonal and I
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Topic:- General Computer Knowledge

1)
Question Stimulus :-

Computer

Drum Pen is a type of-/SH o+ Th YPR BT %I
® Printer/ fiie=
® Plotter/ wWieR
* Scanner/ ¥R
* Keyboard/ FI-a18
Correct Answer :-Plotter/ Wic3
2)
Question Stimulus :-

Computer

The process of verification for ‘Log-in-name’ and ‘Password’ is-/ @-§9-4H dYT ‘UTHds’ &
T @1 ufshar 8-

® Logging in/ E"I"ﬁi’ﬂ'&"-'-l

* Certification/ GféfhbM

e Authentication/ 3fdfepa=

® Configuration/ HI_FRIA
Correct Answer :-Authentication/ 3ifdfes3
3)

Question Stimulus :-

Computer
Powerpoint is a-/9TaRuisc g Udh-

e Word Processor/ 98 MAIR
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e Spreadsheet Program/ SIS W™

® Presentation Package/ Uolemq Ohwl

® Database Management Package/ 3R AAeHE T
Correct Answer :-Presentation Package/ USiexH 1%
4)
Question Stimulus :-

Computer

Which of the following is the physical path over which a message travels?/
ﬁmﬁ@faﬁqwmﬁmwiﬁm& Tariyd (1fa) g 82

° Protocol/tﬁaﬁﬁ

o Signal/ﬁl’ﬂﬁ

* Medium/ Hifsan

® Pathway/ q1Y-q
Correct Answer :-Medium/ Hifsaw
5)
Question Stimulus :-

Computer

Which of the fO"OWiI;% refers to the physical arrangement of a network?/ 9 & ¥ ®9-41
Acad 1 Wifaw srawar o1 guifar 82

* Data flow/ 3¢ &l

® Mode of operation/ s 3P ATIRRE
* Topology/ crularsit

® None of these/ ?El'ff J ﬁi E

Correct Answer :-Topology/ ciUi@rsit

6)
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Question Stimulus :-

Computer

Protocol suite for the Current Internet is-/ qaHH saﬁz ® ﬁl‘l;r mMelhid Iqc %.
e TCP/IP/ ERiidl/ 3t
* NCP/ TiIUY
* UNIX/ g

e ACM/ wHluH
Correct Answer :-TCP/IP/ ¢Rftdl/ansdt

7)
Question Stimulus :-
Computer

layer is responsible for ‘process to process’ delivery?/ R

TR ¢ e RS ¥ fe Rrder a1 82 S
* Data link layer/ S¢T féi® TR
* Session layer/ I AW
* Transport layer/ TOUIE dWR
* Network layer/ A¢a® TR
Correct Answer :-Transport layer/ TRIUIE daR

8)
Question Stimulus :-

Computer

Logical design of database is known as-/ ST & difored fSTsH & Had -
® Database schema/ 3clad ®U3El
e Database Instance/ 3¢9 %Y

® Database snapshot/ a1 AuNiie
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Database design/ LG R | %Vﬂ?ﬁ

Correct Answer :-Database schema/ S¢dd U@l

9)

Question Stimulus :-

Computer

Which of the following can be taken as a primary key?/ g A @ s9-a1
WIS Poil & w0 o Roran o Jaar 82

Name/M™H

Id/3msst

Street/ds®

Department/fSurdde

Correct Answer :-1d/3ss!

10)

Question Stimulus :-

Computer

SDL stands for-/ THIITA &1 YUl =7 &-

Storage discrete localisation/ TR Wm
Storage definition localisation/ WY SfthzE ?ﬁ%ﬁﬂgﬁ"«’ﬁ
Storage definition language/ wRY 3Pz d[w

Storage discrete language/ Wi f3f8pe drdw

Correct Answer :-Storage definition language/ wRe 3fpARH d[dw

Topic:- General Science

1)

Question Stimulus :-

General Science
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What is PH value of human blood?/ A4 Iad &1 PH a9 fd=r giar 22
7
® 7.2
® 7.4
e 7.8
Correct Answer :-
7.4
2)

Question Stimulus :-

General Science

In a human body, the basic building block are-/ g [WR | HT AT HD EH'TI'sc %—
® Muscles/ |1
* Nerves/ T
* Cells/ SI&A
® Bones/ F%‘lﬁ
Correct Answer :-Cells/ ®IfR@™

3)
Question Stimulus :-

General Science

Approximately how much time does a Sun ray take reaching Earth?/ '\‘]:!f | qzaﬁ GEaR'CIR
H TG T T 32

® 400 seconds/ 400 TS
® 500 seconds/ 500 9HS
® 600 seconds/ 600 %S

e 700 Seconds/ 700 ¥&s
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Correct Answer :-500 seconds/ 500 ¥&g

4)
Question Stimulus :-

General Science

Which among the following molecule is rarely found in universe but abundant on earth?/

& & o1 a1 uerd siafver  Sufua T8 8, g gt wR ygR wEn A @2
* CO,
* 0,
®* CHy
* He
Correct Answer :-0,
5)
Question Stimulus :-

General Science

Which of the following Kingdom represents bacteria?/ g & Q FF-91 S aFERar &1
wfafafira var 32

® Monera/ NI

* Protista/ Wifeze

® Protozoa/ PICEIR)

* Metazoa /A3
Correct Answer :-Monera/ HI-RT
6)
Question Stimulus :-

General Science

Which among the following laws of Physics explain about the elliptical orbits of

planetary bodies?/ g & ¥ #9-u1 Wifod fAaw ug-Nvsl & wRaaureR wa #) ueRia Har g2
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* Newton's Law/ <ge+ &1 fFqq

Kepler's Law/ $UeR &1 a9

Snell's law/ &d &7 g9

* Coulomb's law/ Far &I fAad
Correct Answer :-Kepler's Law/ $UTR &1 FgH
7)
Question Stimulus :-

General Science

On which of the following the weight of a person will be minimum?/ fada W’W
fRT BT UR gAaH gRIT?

® Venus/ P

® Mars/ HId U8

® Moon/ dgHI

® Mercury/ URT
Correct Answer :-Moon/ <gHI
8)
Question Stimulus :-

General Science

The "Planetoids" are located between which of the following?/ 3iaR& & «gsug”, Ffad A
frq & diw Sufd g 82

* Mars and Jupiter/ 79 3¥ gg&ufd
® Saturn & Jupiter/ = MR T@‘Wﬁr
® Mercury and Venus/ §Y 3R sk

* Earth & Mars/ gt iR WraT W8

Correct Answer :-Mars and Jupiter/ #7d 3i¥ gg&ufa
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9)
Question Stimulus :-

General Science

Deficiency of Tocopherol leads to sterility in mal.es _and females. The popular word for
Tocopherol is ?/ SBIBRIA B FHI TR T AT F TYIHAT SUT B TDd! gl SDITBIId Dl
HTHTIG: ST ST 21

* Vitamin B3/ faerfia §i3

® Vitamin K/ Qo= &

® Vitamin E/ ﬁETﬁFri

® Vitamin C/ faerfe=
Correct Answer :-Vitamin E/ faerfi= §
10)

Question Stimulus :-

General Science

Water at 3.98° C has /A 3.98°CHI IR ____ Frar gl
® minimum density/ gAdH Y9d
* maximum density/ HalfiI® g9«
®* maximum weight/ alfie 4R
® None of these/ 3=|1?r I ﬁg E

Correct Answer :-maximum density/ Jaifi® g9

11)
Question Stimulus :-
General Science

Which among the following is edible?/ % ¥ $9-91 @H 97Y 8?2
e Sodium Bicarbonate/ JIf$9H FSHEIHC
e Sodium Carbonate/ Jf3UH HEHe
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* Sodium Dioxide/ WIf$dH TFHTFES

¢ Sodium Hydroxide/ HIf$uq gESidaISS
Correct Answer :-Sodium Bicarbonate/ TIf$UH SgHEHe
12)
Question Stimulus :-

General Science

What does contain "Red Data Book”? / ” ¥S Sel ge”’ o a7 g 82
* Astrology/ @ WA
® Endangered wild plants, animals/ &l g4 914 UTeU g E4d| ﬁ?ﬁ
* Communism/ JHTSIAG
* Endangered Forests/ QWU S
Correct Answer :-Endangered wild plants, animals/ @ 8 aIdl UTqU d Sig &I Ja
13)
Question Stimulus :-

General Science

In context with Spience and Technology development of China, what is Tianhe-I?/ ICEIRKC]
Menfe & faem & 99 &1 foam-1 T 82

® A satellite/ Td 3UUg

® A space station/ T& 3iaiRel ©IH

® A super computer/ Th U Y

® A proposed GPS/ U® YdIfdd Sidied
Correct Answer :-A super computer/ T U HHH
14)

Question Stimulus :-

General Science
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Which an%‘long the following can be measured with Anemometer?/ QT-ﬂ'Fﬁ'lﬂE? CRECR )
HIYT SITdT 8?2

® Water Velocity/ UTT &1 T

® Wind Velocity/ Ua= &T o

® Relative Humidity/ TTUE 3Msam
* Absolute Humidity/ fRUe&r amsar

Correct Answer :-Wind Velocity/ 9a= &T 7

15)
Question Stimulus :-
General Science

Which is the most abundant metal in the Earth's crust?/ qzzﬁ P! ag W HIH-
< u1g waifue urft Wt 82

e Silicon/ faferea
° Iron/FﬁET

* Aluminium/ TIfIfIH
® None of these/ Eﬁ J ﬁ'&f E

Correct Answer :-Aluminium/ TAaq

Topic:- General Reasoning

1)
Question Stimulus :-
Logical Reasoning

In the following question, there is a certain relationship between two given words on
one side of :: and one word is given on another side of :: while another word is to be
found from the given alternative, having the same relation with this word as the words
of the given pair bear. Choose the correct alternative./=d fau e yy # fag (: ) P s AR &
U< fou e &1 o9 omud § te UeR A $IE IR €, 319 3l UBR &1 g g (i) ¥ i ok fau
T U 9T I9& A few e fawedl # 4 fredl v ug & o A +ff 21 38 fapeu &1 ug IR 21 e vy

BT 999 B

Manipur : Imphal : : Rajasthan : ?/ GfOTqR : SHId : : IR : ?
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® Udaipur/ 3¢d4R

® Ajmer/ 3R

® Jaipur/ SIOYR

® India/ YRd
Correct Answer :-Jaipur/ SR
2)
Question Stimulus :-

Logical Reasoning

Pointing towards a boy, Sonam said, “"He is the son of the only sister of my father”. How

is the boy related to sonam?/ Wﬁ@ﬁéﬁ?mmﬂwe{ﬁb “ﬁﬁ%ﬁ'ﬂﬁ%ﬁﬁ?ﬂ
g &1 del 87| ASPI, J-H I 59 yoR Jafta g2

® Nephew/ HdlelT

® Son/ YA

® Brother/ ‘1-I1§

® Cousin/ BT
Correct Answer :-Cousin/ e
3)
Question Stimulus :-

Logical Reasoning

What is the angle traced by hour hand in 20 minutes?/ 20 fiFe # ¢ ®t g3
fa-T ®iur IR

* 20°
* 10°
® 25°

e 75°
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Correct Answer :-10°

4)
Question Stimulus :-
Logical Reasoning

If day before yesterday was Monday, when will be Saturday?/ af¢ did §¢ ®a & ugan arar
&1 Aiwar 1, 91 AFaR &4 ghm?

® Tomorrow/ 3T 91l o

® Day after tomorrow/ 3T a1l A P dTq drdr ﬁ"‘-f

® Two days after tomorrow/ 31 91 $d & ol faT 91

® None of these/ 3=|ﬁ J ?ﬁi L
Correct Answer :-Two days after tomorrow/ 39 a1d &d & ¢l faT 91
5)
Question Stimulus :-

Logical Reasoning

From Parul’s home, she goes to her school which is 10 kms towards north. From there,
she turns right and goes 15 kms. After that she again turns right goes 5 kms and then
turns right and goes 15 kms. Now, how far is she from her starting point?/ Ursd 3T R A
d ATt g o 10 fhHl IIR Y 3R 31 fihe 98 981 @ a¢ gedt 8 ok 15 ftl. @t 81 59 91¢ 98 I
geax 5 ! wrdt 8 o R ae gear 15 & wrdl 31 3@ 97 oM wRfle fag A fbait v 82

® 10 kms
e 25 kms
® 15 kms

® 5 kms
Correct Answer :-5 kms
6)

Question Stimulus :-

Logical Reasoning
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In the following options, three of them are alike in a certain way and thus form a group.

Which one does not belong to that group?/ fafeeaai 4 A d9 TP fAfda 9% 9 9= % 3R
3T T JYE 991d 31 SIF-TT1 TP, 39 I 4 JHEfd 8l 82

® Black : 25
® Orange : 36
® Blue: 12

® Magenta : 49

Correct Answer :-Blue : 12

7)

Question Stimulus :-

Logical Reasoning

In the given arrangement, which is the 4th Ietten:/digit/symbo! to thg right of the 14th
Ietter[digit/symbol from right end?/ & TF&‘ qaqXT ﬁ, qq BR ¥ 149 3eR/ 3w /g & qid T 441
&R/ 3/ FRrg B 41 72

47I?2)12T@#S5PQ% U&XC

° @
Correct Answer :-#

8)
Question Stimulus :-
Logical Reasoning

In a certain code language SHEEPS is written as TGFDQR , MOULDS is
written as NNVKER, then how will ORANGE be written in that code?/ it
% HTT H, SHEEPS &) TGFDQR for@d § , MOULDS &t NNVKER for@d 8, 39 ®c
H# ORANGE & &9 fordt?

* PQBMHD
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® PSBOHF
* PTDRML

* QTCPIG

Correct Answer :-PQBMHD

9)

Question Stimulus :-

Logical Reasoning

Which of the answer figures is exactly the mirror image of the given figure when the
;n;%r%r%e;d at PQ?/ &1 3t IR apfd gul =u I &t Wi anpfa o1 gdur wfafara 81 1@ gdur pQ

Question figure/ U4 3THfd

A

Pmﬁmq

Answer figure/ 3X Gﬂ?ﬁf

WA

2%

{di

* (a)
* (b)
* (c)
* (d)
Correct Answer :-(a)

10)
Question Stimulus :-

Logical Reasoning
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What will come in place of the question mark (?) in the following number series? /

Fafafea J=m el d yyares e (?) & M 1R T TA?

1, 2, 5, 10, ?, 26, 37
e 15
e 12
e 17
e 24
Correct Answer :-17
11)
Question Stimulus :-

Logical Reasoning

If the first and second letters of the word PREPARATIONS were inter-changed, also third
and fourth letter, fifth and sixth letter and so on, then which letter would be ninth from
left end?/ g WG PREPARATIONS ¥ Ugd 3R GO¥ &R $I 3T H Iga fordm oY 3R 53t @g
T 3R DY &R P, U 3R Bed &R P 3N AT a8 A 3, ) I1¢ DR T 93T &R B AT BN ?

e 0

o I

e A

e T
Correct Answer :-0
12)
Question Stimulus :-

Logical Reasoning

Three positions of a dice is given. Which is the number opposite to 22/ T& Ui &I o=
fRufeat § wit 1 2 ¥ fRAudia 17 a1 8w Fm?
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°
S U1 =

e 4
Correct Answer :-5

13)
Question Stimulus :-
Logical Reasoning

Seven children A, B, C, D, E, F, G are standing in a queue from top to
bottom. E is at fifth place. Only C is between A and B. G is at bottom. B is
three places after F. What is the position of D from top?/ JdId T A B, C, D,

E, F, G & Ufed # SR 4 19 @S ¢ 81 E Uigd ®IMF W g1 %94 C, A 3R B & dta &
%leﬁ#ﬁ%lB F % @ = 91 §1 $UR | D ST I 1 82

® Fourth/ T
e Sixth/ ®eal

® Second/ gl
e Last/ 3ifaH

Correct Answer :-Sixth/ 3eal

14)
Question Stimulus :-
Logical Reasoning

DIRECTIONS/ﬁi"\’I: In the question below are given two statements followed by two
conclusions numbered I and II. You have to take the given statements to be true even if
they seem to be at variance from commonly known facts. Read both the conclusions and
then decide which of the given conclusions logically follows from the glven statements./
i 24 T uy & G FUF iR ITF AR & fAspd 1 30k 11 AT U g1 U AT U wyAl @) g wIEAn
Bl WA & 3 gdga af | frgd ydid @1 ﬁﬁwﬁﬁw@qsﬁ?ﬁﬂmm%ﬁqmﬁwﬁﬁq

T FYAT BT qb JG U A I HIT g

Statements/PY:
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All roses are flowers./ 9 Teld Pl gl
All flowers are trees./ It Pl ﬂ%’ %'I
Conclusions/fpd:

I. All trees are roses./ i Ug RGIC) gl

II. Some flowers are roses./ P9 d dld gl

* If only Conclusion I follows/ af¢ %ad sy I SFHRUT T 3

® If only Conclusion II follows/ tlﬁ *qd ey 11 SITHRUT HIdT %

* If either Conclusion I or II follows/ df¢ a1 df fAswd I a1 1T SFIHROT HXaT &

* If both Conclusions I and II follow/ af¢ g fAswd 1 3R 11 SHERUT B g
Correct Answer :-If only Conclusion II follows/ ﬂﬁ *ad ey 11 ST HdT %
15)

Question Stimulus :-

Logical Reasoning

Out of the five figures that follow, you are to indicate which figure will best represent

the relationship amongst the three cIasses/ﬁ'H & TF&F i Gﬂ?ﬁrﬂ‘f H 339 GﬂTﬁl G| i-[ﬁ'a, il
g9 9 Tt & g I 3 g=ifar gl

Colours, Yellow, Blue/ 1, Hidr, -iar

@@O

(1L (111}

(1v) (V)
* (1)

¢ (II)

* (III)

* (V)
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Correct Answer :-(III)

Topic:- General Maths

1)

Question Stimulus :-

Maths

GET IT ON
Google Play

In an examination, a student scores 1 marks for every correct answer and
loses 1/4 marks for every wrong answer. If he attempts in all 70 question
and secures 40 marks, then how many questions he attempted correctly?/

TP e § Th BT Uqdd dat 3qar & forg

1 3% YTYd BT @ 3R

Tad 3qaR &

1T 1/4 3F 9 53 9 ¥1 af} S99 T 70 UM g9 U 3R 40 3iF wiga 63,

394 fhaq U= A&t g fhae

. 42
. 46
e 52

® None of these/'ﬁﬁ I ?ﬁ'&" E

Correct Answer :-46

2)

Question Stimulus :-

Maths

U H qaafeyd de |
13 27 39 51
° 18<EIE~ <45<E~I}
27 13 39 51
° 36<18<45< =11
13 27 51 39
o 1B <: 36 <: =1 <: 45

1E|
Arrange the fractions ¢,

27 39 51

38, %5 &0 in ascending order. /i 18

®* None of these/?g_rl'er' I ﬁi T8l

13

27

51

3

Correct Answer :-1¢ < 3 £ 80 g %5

"‘? 3% 51

| 36 45 60 aﬁ- Gﬂﬁﬁ
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3)
Question Stimulus :-
Maths
In a forest which has only deer and humans. There are 80 heads and 230
legs. How many humans are there? /U&% TS ® GI?TW f%TUT 3R {99 ?I Elﬁ
80 RX ¥ 230 W &1 8T fha AIYH &2
e 40
e 25
e 35
e 45
Correct Answer :-45
4)
Question Stimulus :-
Maths

A salesman bought toffees at 7 for a rupee. How many toffees for a rupee

he must sell to gain 40%?/ T qAURT 1 ¥4 & 7 STGIAT @Gl 71 98 1 ¥Ud |
fpa-t cTwiar 9 a1fs 40% T @Y B1?

3
* 4
5
e 6
Correct Answer :-5
5)
Question Stimulus :-

Maths

A fruit seller had some bananas. He sold 20% bananas and still has 128
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bananas. How many bananas he had initially?/ wwm%wmﬁ
?ﬁl?ﬁ 20% Fa 99 2T 3R BT +ft Sa& U 128 Fal 99 gU B 1 IHP U FHITd § fpa
?

e 156
e 160
e 176
* None of these/3H | ®Ig -Tgl

Correct Answer :-160
6)
Question Stimulus :-

Maths

At what rate of compound interest per annum will a sum of Rs.1200
become Rs.1323 in 2 years?/ f&a+ ufazia aiftfe ashgfs qam< #1 &% & $.1200,
2 99 # $.1323 Bl SR

. 6%
. 4%
e 50/
e None of these/STH ¥ ®I§ gl

Correct Answer :-5%

7)
Question Stimulus :-
Maths

Rajesh and Shakshi are partners in a business. Rajesh invests Rs.35,000
for 8 months and Shakshi invests Rs.42,000 for 10 months. Out of a profit
of Rs.31,570 Rajesh’s share is (in Rupees). /S 3R reft Uh qqqg H
TR €1 I 8 W ¥ RIT $.35000 FIAT ST 2 3R Fieh 10 WER ¥ R
¥.42,000 a3 H3dt 31 $@ @Y ¥.31,570 ¥ IO H7 FHA1 (IU H) g:-

e 12,628
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e 14,060
* 16,162

* None of these/FI'ff 3 aﬁi G

Correct Answer :-12,628

8)
Question Stimulus :-
Maths

A boy rides his bicycle 10 km at an average speed of 15 km/hr and again
travels 15 km at an average speed of 10 km/hr. His average speed (in
km/hr) for the Entire trip is:/U® ds®T 15 fpHl /o &t nfa & 10 fHft agea A wmar
%ﬁvgq: 10 fft /€ ot wifa & 15 fpet Srar 81 & aran & fow suat eiwa ofa (fedi/ae o)

11

137

11

) 713

e 7%

z
1113

7
Correct Answer :-111:

9)
Question Stimulus :-

Maths

Pavan is twice efficient than Rakesh. If together they finish a piece of
work in 15 days. The number of days taken b% Pavan alone to finish the

work is:/Taq @ STAHAT IS A ST 31 afe 1 v a1y frelt & &1 15 feq o
B TP § d UG DI bA HTH UG S F o feT &) e 8-
e 10

e 25
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b3 |

=R

° 27

1
Correct Answer :-222

10)
Question Stimulus :-
Maths

The average of 5 consecutive even number is 18. Find the largest
number./5 AR T9 SEATS &1 39d 18 81 G 931 IWIT J1d B

e 20
e 22
e 24
e 28
Correct Answer :-22

11)
Question Stimulus :-
Maths
The speeds of three bus are in the ratio of 2:3:4 respectively .The ratio
between the time taken by them to travel the same distance is:/?ﬁ-‘-l 91 $I
TS BT SFUTT HH: 2:3:4 T UM g3t 99 A H 9% GRT T AT BT U 3¢

* 3:4:6

° 4:3:2

* 3:6:4

* 6:4:3

Correct Answer :-6:4:3

12)
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Question Stimulus :-
Maths

In what ratio water must be mixed with milk costing Rs.24 per liter to
obtain a mixture worth of Rs.16 per liter?/¥.24 Ufd diex & gu & a1y fooa
3T ® Uit firamar s arfe Rysor &1 geg %.16 ufa dieR g2

e 1:2

e 1:3

e 2:3

®* None of these/s_rl'ﬁf I ﬁi el
Correct Answer :-1:2

13)
Question Stimulus :-
Maths

10 years ago, saloo was half of Rehan in age. If the ratio of their present
ages is 3:4, what is the present age of saloo (in years)?/10 CL qﬁmaﬂ

mﬁmﬁmﬁmﬁmluﬁmaﬁqﬁmmw3:4%mmaﬁmﬁ
g (a9 #) o1 82
e 10
e 15
e 20
e 25
Correct Answer :-15
14)
Question Stimulus :-

Maths

The probability that a card drawn from a pack of 52 cards will be a king
is:/52 AT & Udqd ®! T I PTd T 1 Uqd & qERME & Udd g+ DI UIfamdr gl
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1/52

1/26

1/13
e 1/9
Correct Answer :-1/13

15)

Question Stimulus :-
Maths
Find the total surface area (in cmz) of a cone of hei.ght 24 cm and base diametey
14 cm./24 A4t FA13 MR 14 JH MUYR & U a0 TH WP &1 $d YUS AT (T At )
T B

e 704

e 550

e 812

®* None of these/%‘l‘ff I ﬁ'sf T8l

Correct Answer :-704

Topic:- Agriculture-Plant Breeding and Genetics

1)
Question Stimulus :-

Who among the following rediscovered Mendel’s laws of genetics?/ i & & fvaH
Aed & ARt & frawi & 7 | #1?

De Vries/ 3t 9
Carl Correns/ ®Td HI-TH
° Tschermark/m

All of the above/ SWRI%d dt

Correct Answer :-All of the above/ SWIgd I
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2)

Question Stimulus :-

For genetical units, Mendel used the word and Correns called them as
./ SIAIRI®g sHI3al & fag dsar A e BT STAHTA haT T BT A
ary fea-

* Factors, Elements/ Wﬁ, Qﬁ’l’ﬁ‘[‘dﬁ,
* Elements, Factors/ Q?ﬂ'ﬁﬂ?.{ﬂ, Wﬁ
e Gene, Exon/ S+, THd
e Exon, Gene/ U%dH, A
Correct Answer :-Elements, Factors/ Tal#-cd, e

3)
Question Stimulus :-

Altman (1892), referred to the mitochondria as-/ 3(TEeH (1892), HTSEIDI~SAT BI
&IaT-

e Bioplast/ ETCﬁT[FI'mE & =Y #

e Power house of cell/ HIASHT FT Sl Y & U &
* Thermoplast/ YT & =0 &

e None of above/ ST H A BIg g1

Correct Answer :-Bioplast/ SIYANE & &4 d

4)

Question Stimulus :-

The genetic code (Triplet) is-/ 3Ta® Fe (Bw) 4§ -
e Degenerate/ fagd
* Ambiguous/3{Uyc

e Degenerate and Ambiguous both/ fa%d 3R uye gl
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* None of above/ mﬁﬁﬁiqﬁ

Correct Answer :-Degenerate/ ﬁﬁ

5)

Question Stimulus :-

A triplet genetic code was first suggested by./ 3% &I'I':ﬁﬁw DS UYH dR dd1dT T41-
° Johansson/Trﬁ?FH-'ﬁIRT

e Gamow/IHI gRT

* Watson/dglcd gRT

* Crick/f® gRT
Correct Answer :-Gamow/ Wl §RT
6)

Question Stimulus :-

Watson & Cri.ck (1953), explained doublg helical structure of DNA with the help
of-/ @Ted Td {6 (1953), 7 31 TH T I fgpsciipd Jva-1 St AT Di-

e HPLC/UTdiua:fl &I Hee A
e X-ray diffraction/ Ta - ¥ fqad< & Heg 4

e Thermocycler/ YHTHTSIAR Bt Heg I

e Southern Blotting/ H’cﬁ'ﬁ"l’ﬁ'lﬁim

Correct Answer :-X-ray diffraction/ Td - 3 fagd @t Hee @

7)
Question Stimulus :-

In a double helical DNA molecule the two helices have a distance of-/ fgpsara St
T € 3] H 3 peferal & & &1 siav giar @ -

e 344

e 204
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o 344

e 104

Correct Answer :-34 A

8)
Question Stimulus :-

Temin and Baltimore (1975), discovered reverse transcription in-/ %ﬁl‘rﬂ!‘d’

TIRER (1975), faudia sraE= #it Jr $i-
e HIV/UJ IS dt §
e Rous Sarcoma Virus /339 ATHIAT fauro) §
e Hepatitis- B Virus/gurersfed-d1 aravy &
* None of above/ 37# 9 &5 i 781

Correct Answer :-Rous Sarcoma Virus /IT13H ATHIAT faumy &

9)
Question Stimulus :-

Euchromatin region of chromosomes is considered genetically active because is

-f?fhis region-/ IURTAI (HIHIERT) &1 GepiAfed & ARG U A Alhy T § i 59 &
¢ Transcription of RNA from DNA takes place/ i Tqu T AR U T &I Glﬂﬁﬁ-'-l Eﬁ'clT

e Darker Staining takes place/ TGl 354 Eﬁ'cIT %
* Lighter staining taker place/ gl 359 gidl @

e All of the above/ Sugad At

Correct Answer :-Transcription of RNA from DNA takes place/ 31 Tqu d AR Tqu

BT JJaEd g @

10)

Question Stimulus :-
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Diploid number of chromosome is Ophioglossum is./ Nfparaay # S 3
feor T gt 8-

e 1600
* 1262
* 631

e 2400

Correct Answer :-1262

11)
Question Stimulus :-

In Mendel’s trihybrid experiment, F, Phenotypic ratio was-/ ﬁ?ﬁ%g‘l‘%‘l@@%’m
#, F, &1 Y=l 3uTd YI-

e 9:3:3:1
® 27:9:9:9:3:3:3:1
® 27:27:27:9:9:9
® 9:9:9:3:3:1
Correct Answer :-27:9:9:9:3:3:3:1

12)
Question Stimulus :-

A type of dominance relation in which the phenotype of heterozygote. i.s more
extreme than that of either homozygous parent, is known as-/ YUY ddY BT TPh
TR RN farrgme &1 BiFlersy 9agEe U o1 srier sifte gidr 8, Feardr &-

®* Incomplete dominance/ YT UYcd
e Over dominance/ 3f4&® TYd

* Co-dominance / 9z - Uy
* None ofabove/%ﬂﬁﬁﬂﬂglﬁﬂﬁ
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Correct Answer :-Over dominance/ 3fi& gY@

13)
Question Stimulus :-

Which one is a test cross-/ FIg # d HH-IT 3¢ B &-

e« TTx Tt

Tt x Tg

TTXTT

Tex tt
Correct Answer :-T¢ x tt
14)

Question Stimulus :-

The term ‘Crossing Over’ was first introduced by-/ ‘ST 3fa¥" Vs G Ugd fear
-

e Bateson & Punnet/ d¢d+ Td e (1906) GRT

e Morgan & Castle (1912)/ HiH Td &9d (1912) gRT
* Janssen (1909)/ =¥ (1909) §RT

e Sutton & Boveri/ ¥¢ U4 §iadt gRT

Correct Answer :-Morgan & Castle (1912)/ U9 Td $9d (1912) g§RT

15)
Question Stimulus :-

According to C.B. Bridges (1925), if the sex index value (X/A) in drosophila is 0.5
or less then the offspring will be./ 3t.dt.fs5¥ (1925) & 9R, SRifrar ot foiw
3UTd (X/A) 99 0.5 a1 39 HH § af dafd shn-

e Male/ TR

* Female/HTal
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e Both male and female/ SR g HTSI &A1

®* None of these/%‘l‘ff I ﬁ-é el

Correct Answer :-Male/ R

16)
Question Stimulus :-

Genes that are carried on the same chromosome are called-/ Sii9 Sl HI HIAH

R SUFRA g1 &, T 3-

* Linked Genes/Js §T Wi

e Unlinked Genes/fUf3a siiq

e Dominant genes/UHTdl Sii9

e Recessive Genes/3UHTdd SiiH
Correct Answer :-Linked Genes /s §U SfiiH
17)

Question Stimulus :-

When the duplicated gene sequence is attached to another position ownipg to
inter chromosomal duplication then it is known as-/ S Ufd_=0 i< (A Se? TUGH

ERTT S BRI TS v FRAFRT | ST ghar 2 ) 34 Ped 8-
* Inversion/yfaaiad
* Transposed Duplication/¥Hiaia faeiiu=
e Direct Tandem Duplication/1® 3RMIHH fado=
* None of the above/38 ¥ &g i =8l

Correct Answer :-Transposed Duplication/XIFidi¥d faau=

18)
Question Stimulus :-

Mutation which occurs during DNA replication is called-/ @WWH%W old
Saafyad= grar 8 d) 98 Heardr 8-
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Frame Shift Mutation/ Y Rrpe Iafiada
e Copy Error Mutation/ ufafafy Qﬁ.’ IAafadd
e Spontaneous Mutation/ ¥d: IANad—
e None of the above/ 3TH ¥ $I3 *t =&Y
Correct Answer :-Copy Error Mutation/ ufafaf Ffe Safead

19)
Question Stimulus :-

The Genome D present in bread wheat is supposed to have been derived from-/

g A A& (95 FIe) | o= IufRA giar 8, TP i §5-
e Aegilops Squarrosa/ Tolddyg IR |
* Aegilops Speltoides/ Tlduq WeacafSw &
e Triticum Monococcum/ fée®wH diFi®mI®a |
* None of the above/ 379 ¥ &g gl

Correct Answer :-Aegilops Squarrosa/ Tolidqy ¥R ET 9

20)
Question Stimulus :-

Split genes are found in-/ fayed i< U &4 8-
e Eukaryotes/ g@ii¥dicy
* Prokaryotes/ Iﬁ%ﬁTﬁEﬂ
e Eukaryotes and Prokaryotes Both / g&If¥aiey 3R MHfeaieq gl
* None of the above/ s=n?r I ﬁi &l
Correct Answer :-Eukaryotes/ g@if¥dicy

21)

Question Stimulus :-
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Who discovered split gene./fdHad i &1 W fHa o512
e P. Chambor/ 4. aﬁj
° Johanssen/ﬁﬁﬁ?\tﬁ
® P. Leader/ .=
e P.Sharp and R.Roberts/ 0. =T 3iv IR, ﬁﬁ'éﬂ

Correct Answer :-P.Sharp and R.Roberts/ Ut. i1t 3R 3. ey

22)
Question Stimulus :-

Rate of mutation in nature is-/ u?p‘ﬁr H Iafyad ot ® %—
e 1x10°
e 1x108
* 1x1073
e 1x1012
Correct Answer :-1x107°

23)
Question Stimulus :-

Artificial synthesis of mMRNA was done by-/ m-RNA &1 $f3H Idzayur fead feare
e M.Nirenberg (1951)/ TH. S99l (1951)
* H.G. Khurana/Td i, GRTAT
e Okha (1955)/ 3T (1955)
* F. Griffith/T% RIfRpy

Correct Answer :-H.G. Khurana /Td Sil. GRTHT

24)

Question Stimulus :-
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Role of ‘Sin%e Stranded Binding’ (SSB) protein in DNA replication is-/

DNA e ® ‘Rivta W3 aEfEém * wid= &t & oyfirer 2
® Separator Primer/ UISHR 3l G k|
e Stabilizes Unwounded DNA/ a1 g3 SITAT fRR A |
e Prevents Supercoiling/ R 15T APl 3
e None of above/ 70 ¥ ®I§ gl

Correct Answer :-Stabilizes Unwounded DNA/ e g3 SITAT fRR H34 A

25)
Question Stimulus :-

Clover leaf model of t-RNA was proposed by./ t-RNA &I FAaR AP Arsd o
geaTtad fear?

 Nirenberg & Mathai/ “IRai Td AYUTg
 Robert Holley/ I(a¢ gieeit

e Okha/ 3frr

e H.G.Khurana/ Td. Sil. @RI

Correct Answer :-Robert Holley/ ﬁﬂf@ﬁ'ﬁ

26)
Question Stimulus :-

In DNA replication the Okazaki fragments on the lagging strand are joined

together by./ 3T fFUE ¥, AR s A siwemet fis foad grT Jed 82
®* Primase/ s
e Helicase/ gt

e DNA Ligase/ ST aTSiol
* DNA Polymerase/ zﬂwuﬁ%ﬂnﬁﬁ

Correct Answer :-DNA Ligase/ ST AT
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27)
Question Stimulus :-

According to Meselson & Stahl experiment of DNA replication, DNA molecules are
centrifuged in C,Cl density gradient, they separate on the basis of./ A T

TEd YOI & IR~ DNA f§TUH ®, DNA 3] & C,Cl Tl U §IRT Ui fbar &ran &,
9% f5a MU W 3T giar 82

e Mass Number / sHTH
®* Volume/ 3Adq

¢ Density/ 9dd

e All of above/ Sugad

Correct Answer :-All of above/ SUgad dft

28)

Question Stimulus :-

In meiosis, chromosomes are reduplicated during-/ 3 &, sy o T\ﬁ'ﬁuﬁ
gl 8-

®* Prophase I/ UrheT I

e Prophase II/ W II

e Interphase/ eyt

e Inter Kinesis/ $e3 SIUANIY
Correct Answer :-Interphase/ §e3%el
29)

Question Stimulus :-

After a m-RNA has been translated and leaves the ribosome or polysome, it is./

m-RNA 8@ F 918 3R JSEEH a1 Tl Se & a1¢ a8, 8 o 8-
° Dehydrated/ﬁlﬁ?ﬂﬁ
e Degraded/ fFifiea
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e Dehydrolysed/ SlEgSiarss

* Oxidised/ sifFfiga
Correct Answer :-Degraded/ fFiigd
30)

Question Stimulus :-

In mitosis, just after duplication, the two sister chromatids remain attached at-/

wIseIR # 3w & a1, o Rivey wiAfeew fread womw o 3-
* Spindle/ f&isa@
* Asters/ TR
e Centromere/ TUREAG (W)
* Centrioles/ R&Hu® (HaIeH)
Correct Answer :-Centromere/ UAfag (A¢HHUR)
31)

Question Stimulus :-

If at the end of meiosis, the four daughter cells have four ch_romosomes, how .
many chromosomes were in mother cell? /&Gt faUTeH & 3id ®, IR Tt Hifwre o
IR U 81d § | a4 Hifree # fraq Huay gl

e 8
e 16
e 4
e 2
Correct Answer :-2

32)
Question Stimulus :-

Human blood groups (A, B, AB, & O) are example of-/ HTHd Y& 9Hg (A, B, AB, & 0)
fra® Ierevur 32
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Gradient of diploidy/ f&I0ra g1 & awT &

Cline/9dTS &

Transposon/giaUIE{ &
Multiple allelism/9§d Tdld &

Correct Answer :-Multiple allelism/9gd Tdid &

33)

Question Stimulus :-

A potential danger to a population that has been greatly reduced in number is

the-/ 3MATS & foQ uep WuTfaa TaxT fora®! T 959 & 8 7% 8, 98 8-

Hardy Weinberg disequilibrium/ 313 a9a¥ Sr&qa+
Loss of Genetic Variability /3raixi®a fafisar #f grfv
Reduced Gene Flow/Sli9 Uarg & $H!

All of above/ 3udad i

Correct Answer :-Loss of Genetic Variability /3aiziaa fafisar ot g+

34)

Question Stimulus :-

Variation arises by-/ fafirsar S ﬁ?ﬁ %—

Gene Mutation/<fH Iafvad &
Recombination / gﬁ?ﬁfﬁﬁ 3

Chromosomal Mutation/ TURGY Safad— &
All of above/ Iudad

Correct Answer :-All of above/ Sudad dt

35)

Question Stimulus :-
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The ability of an organism to survive and reproduce in its environment, is termed

as-/ {5t Sfia &1 39S arararor & sifad 384 vd Us94 $31 Bt &HdT Hgardl 8-
e Evolution/fd®mg
® Adaptation/ 3P

® Fitness/3iJ®ddl
e All of above/ Sudad |t

Correct Answer :-Fitness/3J®ddl

36)
Question Stimulus :-

Prolonged inbreeding can lead to-/ SId®rei 3fd: U= & gdl @ --
e Increased Fertility/B?chlT 3| q@
* Reduced Fertility /3dar & &
® Natural Selection/ WW Jgq
e All of above/ Sudad i

Correct Answer :-Reduced Fertility /3a3dT H &H!

37)
Question Stimulus :-

An Allopolyploid can reproduce with individuals from- / WHEQTWHT,W I
UH: YSIf~id & Tl § -

®* Neither Paternal nor maternal population/¥ a?E? T8 ATqP JASTT
e Its Maternal Population/ HATq® 4&AT

e Its Paternal Population/ Uq® I=

e Both Maternal and paternal population/ HTg® Td Uqe J&T G-

Correct Answer :-Neither Paternal nor maternal population/q a?ﬁ? a8t AP JAST

38)
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Question Stimulus :-

The lac Z gene in lac operon codes for-/ AP SR C H AP ZsiA gidr % -

e Repressor Protein/ 3UHTd! WA

F _Galactosidase/ ﬁ_ﬁﬁﬂaﬂﬁ?ﬁr
Permease/ﬂﬁfq\‘rr

e Transacetylase/ TiqUHICIgAS
Correct Answer :-ﬁ -Galactosidase/ ﬁ‘ﬂﬁaehrrg%a

39)

Question Stimulus :-

In trp operon, trp B and trp A genes codes for-/ S3MRU 3UF H, T3RUt B Tg e
A o %< Bd &-

e B-Galactosidase/ p BRI G C R TS |

e Tryptophan Synthase/ E‘@'ﬂﬂ fRidwr

e Anthranilate Synthase/ ByFSae fRids
¢ All of the above/ 3uda T

Correct Answer :-Tryptophan Synthase/ E‘@'ﬁﬁl fRidwr

40)
Question Stimulus :-

The DNA repair system found to be most active are-/ SITAT JYR &7 A TaA 3fftw

afipa giar &-
e SOS/TH 31 TH
* Photo reactivation/ ﬂﬁm
e Excision/ TaIeiq
e All of the above/ 3udad At
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Correct Answer :-All of the above/ 3udad i

41)
Question Stimulus :-

The generation of nuclear mRNA from precursor RNA requires the activity of-/

SR RNA ¥ ARSI mRNA 39 @1 fobar # simazae wfafaft -
e Spliceosomes/ WTAS AN
* Endonuclease/ E@ﬁ?{ﬁﬂaﬁ
e Exonuclease/ TRI_gfwadel
e Supersolenoid/ Wﬁm
Correct Answer :-Spliceosomes/ WTASRATHIH

42)
Question Stimulus :-

Plasmids which may integrate into the bacterial chromosomes are called-/

oS St Sftare] UREH § Tt @ SiTd €, weard 8-
® Conjugative Plasmids/ H’g’ﬂiﬂ oS
* R-Plasmids/ 3R- ®IfeHS
e Episomes/ EWW
* F-Plasmids/ UG-WIfeHS
Correct Answer :-Episomes/ TUHI=
43)

Question Stimulus :-

Heritable change in gene expression that does not involve change in underlying

DNA is termed as-/ SiiH 3ifyaafaa § smgaifRie ufvad= it siafifga Steae d uivads &
WP ! B4, B HgI AT 8-=
e Eugenics / goif e

e Epigenetics/ E‘tﬂﬁﬁﬁ'ﬂ[
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e Phytogenetic/ BTgcivAfead
e Genetic Engineering/ SHfe® seiifafy
Correct Answer :-Epigenetics/ E‘d’lﬁﬁﬁ?\‘r

44)
Question Stimulus :-

In Sickle-cell syndrome, the amino acid substituted is./ ﬁlﬁ-@ﬁﬁi@'ﬂ fr', 3=t
tRrs ufawurfua = 8-

e Glutamic acid by valine in “-chain/ © ~ 4aer & 3 Y 8 TeeTfie o
e Valine by glutamic acid in “~chain/ “ 4@dT & Tqe1fi® e $ w18 A=
¢ Glutamic acid by valine in ’E-chain/ - y@d ¥ 9 Dt ST TGeH® 3
* None of the above/ 78 ¥ ®I3 78]

Correct Answer :-Glutamic acid by valine in Jls’-chain/ A 8[‘@?” H 9 &1 S8

TCTH® 3
45)
Question Stimulus :-

Which of the following is a recessive trait in garden pea./ 9 & ¥ S9-91 A &
SYUTAY &7 8-

* Round Seeds/ e i

e Tall sterm/ &dT a1

* Wrinkled Seeds/ gftaigr diw

e Coloured Seed Coat/ 9 &t 3iravor

Correct Answer :-Wrinkled Seeds/ gf¥aigR dfie

46)
Question Stimulus :-

Which country was first to begin commercial use of transgenic tomato &
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GET IT ON
Google Play

tobacco? / 19 ® A f5w &3 4 WA (Sii~I®) eHTeR U4 dard &1 arfoifsus sxdard

T9Y U Y= fohaT 4T UT?
¢ India/ HURRd
e America/ 3@fY®T
e China/ 94
e Canada/ &-rsT

Correct Answer :-China/ 99

47)

Question Stimulus :-

In India Inter-ministerial committee to decide commercial use of GMOg is-/ HIRd

# 3id: warerdt aftfa iR, Mo arforfsas 3uai & fere fAofg -
* GEAC/ S5t
e DBT/ Sttt
e DST/ Sigwdl
e EPA/ 3T

Correct Answer :-GEAC/ Siisudl

48)

Question Stimulus :-

The first genome sequenced was-/ UYH S HH UT?
e Haenophilus influence / %T-ﬁﬁv_dﬂ YHTd
* E. coli/ 3. ®arg
* Tobacco/ ddl®
* None/ ﬁ's‘?é’f

Correct Answer :-Haenophilus influence / AP YHTd
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49)

Question Stimulus :-

The genetic exchange between different evolutionary linkages is referred to as:-/

faera & i Rihst & Srgaife smeM-ver gt 2-

Horizontal gene transfer/ &fds Sii9 ®Ri=aRor
Lateral gene transfer/ dqdq S RITIAROT

Horizontal gene transfer and Lateral gene transfer both / afast shi9 wrHiaRo

None of above/ T8 ¥ $I3 * =&Y

Correct Answer :-Horizontal gene transfer and Lateral gene transfer both / éﬁﬁr
ST RITTAROT 3R daad Sii= RIFTGRr g1

50)

Question Stimulus :-

Most comprehensive database for SNPg is:-/ SNPg & fore e fawariva siwsT 8-

EMBL/ STHSTA
SWISS PROT/ a9 Uic

HGBASE / TdSiay
Mito/ firel

Correct Answer :-HGBASE / Tgsilad

51)

Question Stimulus :-

Gene density in human genome is: - / #I9d SiFIH # Sfi9 99« gla1 @ -

One gene per 2 kb/ T& SiF Ufd 2 kb
1 gene per 10 kb/ T® i Ufd 10 kb

1 gene per 100 kb/T® Sii9 Ufd 100 kb
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e None of above/ gqﬁ@rﬁs‘ el

Correct Answer :-1 gene per 100 kb/T& SiiH Ufd 100 kb

52)
Question Stimulus :-

Process that |dent|f|esE§ene their regulatory sequences and their function

is termed as- /a's'faﬁr WW@WW?%
Hgardl 8-

e Synteny/ =i

e Annotation/ drET

e PCR/ U # 3R

e DNA fingerprinting/ Shee bR fifém
Correct Answer :-Annotation/ Tl

53)

Question Stimulus :-

The printed oligonucleotide chips are produced by?/ gf&d sfiein=gfeadiersyd frea
U Bl T2

* DNA Sequences/ SITU 3HH GRT
e Photolithography/ BICIfAURIT®! gRT
® 3D printing/ 3D HgUT &RT

« None of above/IWRIE HIs g1

Correct Answer :-Photolithography/ BIcIfdRIT®w! gRT

54)
Question Stimulus :-

Which of the foIIowin%r; an in-vivo system to study protein interactions?/

AT 3= forar & ford A & A H-91 3ra: 95 YIRT A 1T ST 82
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55)

Question Stimulus :-

Micro arrays/ ﬂ'l%ﬁ gg

Yeast 2 hybrid system/ e 2 gigfas a7
SDS-PAGE / THSITH UW

None of above/39H A ®IS g1

Correct Answer :-Yeast 2 hybrid system/ iRe 2 31'{[%!3 GE

GET IT ON
Google Play

Which of the following is not protein sequence database?/ g A 9 s=-a1

39 N 3 qpH P T8 82
e SWISS-PROT

* PDB

e dbEST

* TrEMBL

Correct Answer :-dbEST

56)

Question Stimulus :-

The method of developing multilines in wheat was first outlined by-/ ﬂE |

T fasRid o3 @1 faf 9a9 ugd fead gr1 Y@ifed & w2
e Hull (1945)/ 9 (1945)
e Borlaug (1953)/ SR@NT (1953)

e M.S. Swami Nathan/TH.TH. WHATYT
« None of these/37H ¥ HIs gl

Correct Answer :-Borlaug (1953)/ SRANT (1953)

57)
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Question Stimulus :-

GET IT ON
Google Play

Germplasm collection maintained in India at-/ YRd # SH&SH U8 d4mRd
fPar T ® -

« NBPGR New Delhi/ Taddisiem 8 facett &
e CPRI, Shimla / It 4t 3R 3ms, Rrer &

« CRRI, Cuttack/ ¥ 3R 3R 3MT5, Hcb A

« All of above/ SWRI Tt

Correct Answer :-All of above/ ISRIaT g

58)

Question Stimulus :-

Who made the first artificial interspecific plant hybrid?/ Hauyd feaa $HH

3id: S UTg Hpx T2
 Borlaug (1953)/ SIR@NT (1953)
e T. Fairchild/ & haRaSeS
e M.S.Swaminathan/ TH.UH. AT

e None of the these/ §=|1?r I ?:Iﬁ's: el
Correct Answer :-T. Fairchild/ & m

59)

Question Stimulus :-

Germplasm collections are done largely from a area where agriculture is:-/

HE: STHWTSH AUE J81 ST §id1 8 ol W At -
« Not in practice/ &Yl A g 8
 Advanced/ Wifa=fia g
« Stille primitive/ 34t Y uri= 8
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« None of these/3H ¥ I gl

Correct Answer :-Stille primitive/ 3/ ft U= 8

60)
Question Stimulus :-

Combining desirable characters in one plant and then multiplying it,is

called as:-/ T4 U & TH N A AT AT Td UM HIAT HeaTdl 8-
e Selection/ 94U+
« Tissue culture/ a® "4
« Genetic engineering/ 94 fH U@
e Crop improvement/ Bdd JUR
Correct Answer :-Crop improvement/ Bdd JUR

61)
Question Stimulus :-

The oldest method of plant breeding is-/ UIgU Woi<1 ®! ¥ad RH! faf¥r 8-
Introduction/ RIS

Hybridization/ J&H30T

Selection/ Id4

None of above/ 398 J &I gl

Correct Answer :-Selection/ J49+d

62)
Question Stimulus :-

Method of selection in plants showing vegetative propagation is:-/adf o=

=4 ara Nl & 9949 a1 fafyr 8-

« Pedigree selection/ USHI 999
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e Pure line selection/ S ¥& T4
 Clonal selection/ F9d I
e Mass selection/ HIY IJJ4

Correct Answer :-Clonal selection/ CRIE RG]

63)
Question Stimulus :-

The best way to obtain bacteria and virus free plants through tissue

culture is-/ UGl ¥ Id® YT GRT SitaTv] T4 fawrop Ifgd MY v w3 @1 fafyr 8-
 Micro propagation/ g&q da¢+

e Seed germination after gamma irradiation / T fa@wvur &
SURT el PRI

e Shoot tip culture / RIg Heas
e All of above/ SWIad Tt
Correct Answer :-Micro propagation/ J&i g

64)
Question Stimulus :-

The hybrid progeny.of cytoplasmic male sterile plants would be?/ PIRIBT
oI AR 97gr Wit &) Soefyd ddl ghfi-

e Hermaphrodite/ Iygfeht
e Male sterile/ T-ITEVEI

« Female sterile / AT dIg
« All of these/ IURIad G4t

Correct Answer :-Male sterile/ ¥ 3\1'31

65)
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Question Stimulus :-

The process involving inspection, fumigation and growing the introduced
plant material in isolation is known as-/ 98 forar fS5rad uftamae WY &1 e,

gHieRur Td AT yuw fHar Sirdr §, dedrd! 8-
e Acclimatization/ JHII®dAA
e Quarantine/ JYd HIAT

e Adaptation/ 3JHdd
« All of above/ SURIad Tt

Correct Answer :-Quarantine/ Y& &l

66)
Question Stimulus :-

If the introduction of any wild species or land cultivation is done, for
developing genetically improved variety, by selection or cross
hybridization, it is referred to as:-/ dfe f&dl a=a wenfa a1 Tl Ft YFama
Wﬁvw%ﬁam%wmﬁvﬁwmaﬂaﬁ% a9 98 Pgardl

Primary Introduction/ WYf¥& k=g

Secondary Introduction/ fgdia® =g

Modification/ SUidRUl

None of the above/ §7H d $I3 T8I

Correct Answer :-Secondary Introduction/ fgdta® uR=g

67)
Question Stimulus :-

Which of the following varieties of wheat was selected from one of the

variety of CIMMYT, Mexico)?/ 9 & 3 71g &1 &9 ft f&l &1 999 cIMMYT,
AfFge! ot ve foew A fooar T 82

« Sonora 64 / JIFRT 64
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e Lerma roso/ @Hf A

« Kalyan Sona/ ST AT

« All of the above/ SWRiad I
Correct Answer :-Kalyan Sona/ 1ol T

68)
Question Stimulus :-

Which of the following weeds have been introduced in India from other
countries along with plant materials?/ ¥ % § ®19 Wt TRUGIR # URd & g
o=t & emunfa wiel ¥ A1y I fpar mar?

« Argemone Mexicana/ 3(TSIHIF ARSI
e Eicchornea crassipes/ ST vy
e Parthenium/ urdferas
« All of above/ SWRIF TH

Correct Answer :-All of above/ SRIFT g

69)
Question Stimulus :-

Pure line selection is also called- Y[ ¥&T 799 & g8 it &g1 w1an 3-

Inbred selection/ 3id: UsHA T4

Progeny selection/ Idfd 994
Single line selection/ T&d Y& 994
All of above/ SWRIad I+t

Correct Answer :-All of above/ SRIad g

70)

Question Stimulus :-
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Mutation frequency during plant breeding depends on-/ UlgU UsiH+d & 99g
IafadT amafy frR a5 2-

Dose (concentration x time)/ TRTH (FPKU xIIA) W

Temperature / dIUHTE IR

pH value / pH T W

All of the above/ SWRIad A4t

Correct Answer :-All of the above/ IRIET g
71)

Question Stimulus :-

Induction of polyploidy in potato is achieved by treating with?/ e-nqﬁ
YOI URa # & forg 3% Iu=ria far e 8-

« Lanolin Paste/ d-IfeH U |

« Colchicine/ ®ifcalya |

o X-rays/ m—ﬁ?{uﬁ'@

* None of these/ s=n?r I ﬂﬁ? T8l
Correct Answer :-Colchicine/ HIfcalR T 4

72)
Question Stimulus :-

Kufri Alankar, Kufri Chamatkar, up-to-date are important varieties of?/

P! APR, P! THDR, 3U- ¢- S HeTYUl fre § -
Okra/ f3idt &1

Capsicum/ fird &t

Potato/ 3IT¢ &t

Rice/ dT9d &1
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Correct Answer :-Potato/ 3T @1

73)
Question Stimulus :-

Which of the following in not fusarium wilt resistance variety of chick

pea?/ @ ¥ A o9 t T ot wERaw wnfy A ey 22
« JG 74/ S Sit 74
« Radhey/ 319
e Gaurav/ MRa
e Vijay/ fasa
Correct Answer :-Gaurav/ TRd

74)
Question Stimulus :-

A quantitative trait locus (QTL)?/ U HBITHD &0 ﬁslfq' (QTL)-

e Contains a known gene which affects a polygenic trait/ & JTd

S g1 & i Igelifvie @efor S GTid BT 8

e Contains a single gene which affects a polygenic trait/ Udhd

S 8T € St agellfeie WaIv Y UHTfad S @

« Contrast all of the variation for a polygenic trait/ T&% dgeiifi®
&1 § 9t faftrsrarsit ) Fafia svar 8

« None of these/ 9H ¥ ®I§ gl

Correct Answer :-None of these/ 3TH q ®Is gl

75)
Question Stimulus :-

What would be the colors of hulls of wheat plants heterozygous for all

three hull colors Loci?/ ﬂg%ﬁ@%%ﬂ%%ﬁﬁ@%ﬁ?%ﬁ?ﬁﬁ%
el & fsera BT 771 T FhIM?
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76)

Question Stimulus :-

Light red/ godbl dld
Dark red /eI did

Medium red/HHEUH dId
All of above/IURIad gt

Correct Answer :-Medium red /H%H dld

GET IT ON
Google Play

Dominance can easily confused with over dominance if?/ qYTadr &1

faguTfaaT @ smart | uftra fpar o1 awar g afe-
e SNP5s are involved/ SNP5 o gin

e QTLs are involved/ QTLj5 fora g

e rDNA is involved/ rDNA faw giT

« None of these/ 74 | &I gl

Correct Answer :-QTLs are involved/ QTLs fora gitt

77)

Question Stimulus :-

When two or more events occur simultaneously. They are called-/ Sid a1

&l A 3ifie weTy U ury ufed gt ], 3 wrarnd §-
« Independent events/ Tdd gcHIY
e Simple events/ JIYRU AT
e Compound events/ Hgad 9cHIY
« All of above/ SRl |t

Correct Answer :-Compound events/ Jgad eI
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78)
Question Stimulus :-

When the probability is calculated on the basis of reasoning even before.
any trail or experiment it is called?/ Sid T3 fF 9 & SMuR R, ot wiim
T YART & Ugd TUMT B Slrdt 39 T ol &-

« Mathematical Probability/ O dyTa=T
« Apriori Probability/ TdRIg SHTaHT

e Both the above/ SIS gl

e None of these/ Eﬁ I ﬁé EEHi

Correct Answer :-Apriori Probability/ q\-q‘ﬁa HUTAAT

79)
Question Stimulus :-

PBR322 is an example of-/ PBR322 T® 3glg Ul %—
e Shuttle Vector/ Rcd dlgd BT
« Phage Vector/ Wsl dIg® &I
e Plasmid Vector/ WIfoHS AI§®d B
e Cosmid Vector/ BIRUS dIEH BT
Correct Answer :-Plasmid Vector/ 715 dqigdh bl

80)
Question Stimulus :-

Which pair is right?/ ®9-T1 T 98! 8?2
e Multi Copy Plasmid/ E‘g’@lﬁ%’uﬁ - Relaxed Replication/ Qp]

« Simple Copy Plasmid/ T&d WSS Ufd - Relaxed Replication/
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e Multiply Plasmid/ 9§ WIfo¥s Ufd - Stringent Replication/ 3R

« None of these/ 7H ¥ ®I§ gl

Correct Answer :-Multi Copy Plasmid/ EIEWIT@TS’ ufd - Relaxed Replication/

& ufoepfa

81)

Question Stimulus :-

tet’, kan' are example of -/ tet", kan" JeTE T 8-
* Marker genes/ fag® SfiF &1
o Cos -Site/ Gar:| ﬂ'l'é‘c’ Cal
o Ori site/ aﬁﬁms‘?m
« All of above/ SWRiad i

Correct Answer :-Marker genes/ fae® sfia &1

82)

Question Stimulus :-

Cosmids are prepared by inserting

FiRey 3R 5 o € e $Y
e T-DNA, Plasmid/ T-DNA ,&SHS
e Cos-Site, Plasmid/ $\I"\‘r'\=|13'c', WIfoHs
¢ Genome, Plasmid/ S ,WIT@FS’
e None of these/ s=n?r I ﬂﬁi el

Correct Answer :-Cos-Site, Plasmid/ 19 dTse, WIS

83)

Question Stimulus :-

of phage'l into a

H srafifay a1

-/
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Isolation of B+ gene from B thuringiensis was done by-/ il ?ﬂ?ﬁﬁﬁlﬁﬁm g
B+ S &1 JYFHRT fHad gRT fHar?

Barton et al (1987)/ d1dd Ue 3Td (1987)

Venter et al (1998)/ de3 U 3Td (1998)
Baltimore/EITTtﬂ'lﬂ?

Braun /9134

Correct Answer :-Barton et al (1987)/ EITT;‘-‘-[EE‘ 3Tl (1987)

84)
Question Stimulus :-

Isozymes analysis of hybrid verification employs-/ GHWFITERT fa=qwor &1
B Targ- o s 8-

« Starch gene/ W SiH

« Polyacrylamide gene/ UTAI®IGHISS SIiH
e Starch gene and PonacryIamlde gene both/ W S 8y

UTdpiaargs Sfid gil
« None of these/ S7H I &Is 8l

Correct Answer :-Starch gene and Polyacrylamide gene both/ W o9 3R

UreiIanTgsS SiiF gl

85)
Question Stimulus :-

In Haploid culture, chromosome dupllcatlon without nuclear division taker

place it is known as-/ g@Iss Jat= & HIARIY GO o1 = U= & giar g,
HEaTd 8-

« Eumitosis/ gHIgCIRN
« Endomitosis/UsSIfHeiRg
e Cloning/a@If=
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« All of the above/IURIe A4t
Correct Answer :-Endomitosis/@ﬁaﬁm
86)

Question Stimulus :-

Immobilized cell systems uses for cell immobilization./ fRR I«

et REAFUIFR/T . HTITNT IR R -
« Calcium alginate/ H»feXraH TelifoAe
 Agarose Beads/TRIS §1§d

e Calcium alginate and Agarose Beads both/ mqﬁrﬁﬁz 3R
TR d159 gl

« None of these/ ¥ ¥ ®I§ a8l

Correct Answer :-Calcium alginate and Agarose Beads both/ Sferran

TeiRre 3R TR Siew At

87)

Question Stimulus :-

Intron are absent in-/ ¢ 3UfRT BT 3-
« Zein Storage genes of maize/ HI®HT Zein JUE H ard Sl #

« Soybean Protein Genes/ JAEIH UidHH SiiH A

e Zein Storage genes of maize and Soybean Protein Genes both/

AT § S U8 # o Hrare= mdF sfiiF #
« None of these/ 99 ¥ &g gl

Correct Answer :-Zein Storage genes of maize and Soybean Protein Genes
both/ ATHT § S TUg # 3R ;#qﬁquﬁzﬂqvﬂqﬁaﬁ

88)

Question Stimulus :-
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Cryopreservapion_ is the storage of materjal at ultra-low temperature-by./
# 3rcdd HH drgHTE R Uerd 1 "Ue fHae grRT gl 8-

 Very Rapid Cooling/ 9gd STegl 38T BT
« Gradual Cooling/ R-¥ 38T &1

e Gradual Cooling & Simultaneous De.hydration at Low
Temperature/ &H YA W ¥ R 38T Tg 91U H fAsididor A1

« All of the above/ SWRiad I

Correct Answer :-

All of the above/ SWIiad It

89)
Question Stimulus :-

Electrophoretic separation of DNA molecules, several megabases in size,
achieved by/DNA 3(U[3{f & dgudHUETE JEHI0 H ATHPR | H5

&RT U fg & 82
e PFGE
* FISH
o SDS-PAGE

« None of these/ 99 ¥ &I gl

Correct Answer :-PFGE

90)
Question Stimulus :-

Confirmation of DNA transformation in rDNA teachnology can be done with
the help of-/ rDNA T&-I6] §RT SITAT WFIARUN BT JATYT fobdeh GRT Hd &-

« Western Blotting/ a3+ sAifeT
« Southern Blotting/ T+ AT
« PFGE/ Hiuweits
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e PCR/ UIflaR
Correct Answer :-Southern Blotting/ \‘Iﬁ@lﬁ'ﬂ
91)

Question Stimulus :-

Which of the following is type I restriction endonuclease?/ % # q HIH-91

<15y I ufaey TeIgfaa 22

e EcoK

* EcoB

e Alul

« EcoK and E co B both / E co K 3R E co B gl
Correct Answer :-E co K and E co B both / E co K 3R E co Biﬂ=ﬁ
92)

Question Stimulus :-

Which of the foIIowmg is DNA modifying enzymes?/ g & Q Fa-T1 ] 1 1
T=Nfa H are ¢SS 82

e Kinase/ aﬂsﬁv{
« DNA Polymerase/ SITAU UIAHYS
« Alkaline Phosphatase/ Tehdlgd BB
« All of above/ SWRIF TH!
Correct Answer :-All of above/ SURIdT Tt

93)
Question Stimulus :-

Cloning large piece of DNA can be achieved by-/ DNA & §8 gHS! @ qall-iT
I P el 8-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

« '~ Phase/ "~ B gRI

e Cosmids/ BRI GRI

e YACs/ YACs §RT

« All of above/ SWRIad g

Correct Answer :-All of above/ SRIad g

94)
Question Stimulus :-

Amplification buffer for PCR reaction contains-/ F¥i3mR srfuferar & fore yadH
TH M g1 2 -

e KCL
e Tris CL

e 1.5 mm MgCl,

« All of the above/ IuRlad i

Correct Answer :-All of the above/ IRIad gt

95)
Question Stimulus :-

Co-dominent marker not used in MAS methot of plant breading is-/ 7% )
DIF-9T T TUTdt U MAS faft gRT uTew w1 ® uged 81 giar 82

. SSR
.« SNP

e ASLP

« All of the above/ SWRiad I

Correct Answer :-ASLP

96)
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Question Stimulus :-

RFLP-QTL linkage relationship can be studied in-/ RFLP-QTL foi&e da¢Y &1
AT P Thd § -

« Self Pollinated Species / ¥d:URNATU USATfd |

« Among Inbred Lines in Cross-Pollinated Species/ 3{d:Us<- A3
T RNV YoItfd |

o Self Pollinated Species and Among Inbrec_l Line§ In Cross-
Pollinated Species both/ Iad:URTIVT Yelifd § 3R 3fe:UST-T AT T
WRITYT Yoiifal § g1

« None of these/ ¥ ¥ ®Ig gl

Correct Answer :-Self Pollinated Species and Among Inbred Lines In Cross-
Pollinated Species both/ T URNTUT YuiTfa H 3R 3iq:-UST- A1 1T URTIUT FSATiel

H g

97)
Question Stimulus :-

QTLS for root traits are being used to develop high yielding draught
resistant in-/ /9 # 9 5y f5w ﬁgm&wﬁ QTLS [ ufaRIel td 3=
IATEHAT fAPRIa HI & T T fhd o1d &2

* Rice/ CICGE:|
e Maize/ Hadb H
« Rice and Maize both/dTad & 3R A d gl
« None of these/ STH I &Is a8l
Correct Answer :-Rice and Maize both/a/ad # 3R ¥a® | gIHI

98)
Question Stimulus :-

Gene silencing is caused by?/ S TWdl BT PRI %—

« DNA methylation/ SigqT fHyga=™
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e Co-Suppression/ g -3Hd1
« Antisense RNA/ TdRIT 3REAT
« All of above/ SWiad gt
Correct Answer :-All of above/ IRIFT g

99)
Question Stimulus :-

Genes conferring insect resistance to plants are?/ Ml & HH-91 Pie ufaiy
i+ W fopar wiTar 82

e Bt gene/ Bt SiF
- ipt gene/ ipt SiF
e Pht gene/ Pht i
« All of above/ SWRIF THl
Correct Answer :-All of above/ SURIaT g

100)
Question Stimulus :-

Hepatitis B surface antige.n has been expressed in tobacco to-/ %ﬁﬂ%ﬁﬂ B
Afae &) daTe # e Hd 8-

« Induce Immunity Against HBs Ag/ HBs Ag & favg Ufva ufeRiu®
&HdT

 Induce Hepatitis B in Tobacco/ Uf¥d fetersfed B darg o

e Induce Immunity Against HBs Ag and Induce Hepatitis B in
Tobacco/HBs Ag & fawg Ufva ufaRiu® ermar ik ufva feuesfew B
GEICE AR

« None of these/ 9H ¥ ®I§ -l

Correct Answer :-Induce Immunity Against HBs Ag/ HBs Ag & fae URka
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